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1.What Open Replicator operations can be incremental?
A. Hot Push, Cold Push

B. Hot Push, Hot Pull

C. Cold Push, Hot Pull

D. Cold Push, Cold Pull

Answer: A

2.What Open Replicator operation is supported when the Control device is a Virtual Device?
A. Hot Push

B. Hot Pull

C. Cold Push

D. Cold Pull

Answer: C

3.What is the permitted state of a Virtual Device when it is the Control device for an Open Replicator
session?

A. Read/Write

B. Write Disabled

C. Not Ready

D. Held

Answer: C

4.In an Open Replicator solution what do the terms HOT and COLD refer to?
A. The state of the Target device

B. The state of the Remote device

C. The state of the Control device

D. The state of the Source device

Answer: C

5.A customer would like to use Open Replicator to copy data as quickly as possible.
How should Pace and Ceiling be configured?

A. Pace and Ceiling should be left at the default.

B. Pace should be left at the default and Ceiling set to 100.

C. Pace should be set to 9 and Ceiling set to 0.

D. Pace should be set to 9 and leave Ceiling at the default.

Answer: B

6.What is a supported deployment option for Open Replicator?
A. Incremental Hot Pull Session

B. Incremental Cold Pull Session

C. Incremental Cold Push Session

D. Restore of Incremental Pull Session

Answer: C

2/6



The safer , easier way to help you pass any IT exams.

7.How are the tracks on the Control device marked during an Open Replicator Hot Push creation?
A. Modified tracks

B. Invalid tracks

C. Protected tracks

D. Unprotected tracks

Answer: C

8.An Open Replicator create operation failed. The summary of the message indicates that the Remote
device is too large.

What circumstance could lead to such an error?

A. Push operation to a larger Remote device

B. Pull operation to a larger Control device

C. Pull operation to a smaller Control device

D. Push operation to a smaller Remote device

Answer: C

9.Refer to the exhibit.

i Zone1 Host Access
HEA 1 /_//— Zone 2 Host Access

/ mmm Zone 3 Open Replicator Access

. F Zone 4 Open Replicator Access
Control Symmetrix Remote Array
FA Port 1 ™= = Storage Port1
FA Port 2 jeessr—— t/ = Storage Port 2

Which Open Replicator operations can be performed between the Symmetrix V-Max array and a
third-party array based on the architecture shown in the exhibit?

A. Cold and Hot Push and Pull

B. Cold Push and Pull only

C. Hot Push and Pull only

D. No operations

Answer: A

10.Refer to the exhibit.
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Host Zone 1 Host Access
HBA 1 Zone 2 Host Access
Zone 3 Open Replicator Access
HBA 2 T Zone 4 Open Replicator Access
Control Symmetrix /‘r Remote Array
FA Port 1
FA Port 2
FA Port 3 ./ : Storage Port 1
FA Port 4 Storage Port 2

Which Open Replicator operations can be performed?
A. Cold Push and Pull only

B. Hot and Cold Push and Pull

C. Hot Push and Pull only

D. No operations

Answer: A

11.You want to make use of Open Replicator and move data from a Symmetrix device to an undiscovered
CLARIiON array.

What information has to be specified in the Open Replicator device file?

A. The CLARIION Array ID and LUN ID

B. The WWN of the CLARIiiON LUN

C. The CLARIIiON Array ID and WWN of the CLARIiON target device

D. The WWN and LUN ID of the CLARIiON target device

Answer: B

12.What is a prerequisite for a Hot Push with Open Replicator?

A. Each FA port on the Control array (with mapped Control devices) must be able to access the
corresponding Remote devices.

B. Each FA port on the Remote array (with mapped Remote devices) must be able to access the
corresponding Control devices.

C. One FA port on the Control array (with mapped Control devices) must be able to access the
corresponding Remote devices.

D. One FA port on the Remote array (with mapped Remote devices) must be able to access the
corresponding Control devices.

Answer: A

13.Refer to the exhibit.
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Symmetrix Management Console will be deployed in a local configuration on Server A. Server A has
access to the Symmetrix array over the SAN.

What licenses are required on Server A?

A. SMC key only

B. Base, SMC, and SYMAPI server keys

C. Base and SMC keys

D. Base and SYMAPI server keys

Answer: B

14.Refer to the exhibit.

FJ! I ]- SAN

Server A Server B

Symmetrix Management Console will be deployed in a remote configuration on Server A. Server A can
access Server B over an IP network. Server B has access to the Symmetrix array over the SAN.
Which license(s) is required on Server A?

A. SMC key only

B. Base, SMC, and SYMAPI server keys

C. Base and SMC keys

D. Base and SYMAPI server keys
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Answer: A

15.A Symmetrix customer wants to create additional thin devices by using a graphical user interface.
Which tool would be best suited in this scenario?

A. Symmetrix Manager

B. Symmetrix Management Console

C. Storage Provisioning Services

D. Solutions Enabler

Answer: B
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